pestle interminable lieutenant

word root cede means go beset
precede negotiate
word root plu means more
contusion receptacle
rebut
susceptible WO rd S'I' u d
portent y
Week of October 18
recede
increment superfluous disseminate
gulible blunt entfertain
word root acr means sharp or bitter plus
word root tract means to draw or pull or draw recognition
waver contract
plural acrimony foist acrid
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Name: Week of October 18

acrimony e retraction e plus e contract e disseminate e negotiate
lieutenant e gullible e interminable e acrid e innovative e pestle o foist
entertain e rebut e confusion e beset e receptacle  recede o postulate
waver e portent e recognition e superfluous e blunt e susceptible e ritual

increment e plural « precede

Write four words that you are unable to define.

Write ten of the most difficult words to spell.

Write ten words that you have not yet written.
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edHelper
Name:
Word Roots
to Know:
cede acr
means go means sharp or bitter
precede acrimony
recede acrid
tract plu
means to draw or pull or draw means more
contract plural
retraction plus
Vocabulary is confusing. Get to the root of the problem with word roots! Here are the answers:
acr e go e more e bitter e acrid e plu e plural
Theroot:plu zmr ecmor emoer s gexun
means f h t i zumor emoer | r x ge
Thisroot h r t i ga kuacrcezypvmn
meansbitter | a c r c occr auyarcdvxr
Theroot:cede p k g i ogmgg i h x gozvogo
means € 9 g 0 g 0 x s g i ¢c gaoogihp
Thisroot | x ey i houpgp !l upnmusr
meansmore um z p h I t r | x | gbp | uwiu
Wordwith r i j rcr i dtwxacr idgia
theroot:tacr i vy dacr i dacr i idcadrt
Theroot:acr y r b i i t e i b i t 1t er ebitr
means a b i t t er b i t t er e i x | t i
Word with m a |l ur al xdI c pl uarp
theroot:pu p | ur al pracpl uaralar
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edHelper
Name:
The vowels are missing in the word search. ERPLCIWFAP
Fill in the missing vowels and circle the words. EEEIPNAOCO
R B P WB S T R NCSERNVIRS
P L L R L N L TETUEOESTIT
EPLTCVRTDU
v P L S C RTEEEAARBL
S N R C R D TATNDTPEEA
T T R R B T D ACIAEILBST
ILCNLVUUEE
L L F S T
NEUTNESTTT
P S T L T ENTERTAIN e FOIST
REBUT o WAVER
R C a c L RECEDE e PRECEDE
N T R T N Z INNOVATIVE e PLUS
LIEUTENANT o ACRID
L I E UTENANT RECEPTACLE e PESTLE
BESET e POSTULATE
BLUNT e PLURAL e RECEDE
POSTULATE e ACRID e WAVER
BESET e FOIST e PESTLE e LIEUTENANT
RECEPTACLE e PLUS e ENTERTAIN
REBUT

ACRIDDTRECEPTACLEBOT
NPESTLEFIRECOGNITION
SPLURALOLIEUTENANTEE
LDISSEMINATENTERTAIN
PRECEDESRPLUSBESETERB
CONTRACTWAVERECEDECS
INTERMINABLEACRIMONY

BESET e ENTERTAIN e PESTLE e PLURAL
ACRIMONY e PLUS e FOIST
RECEPTACLE e LIEUTENANT
RECOGNITION e ACRID
INTERMINABLE o WAVER e RECEDE
CONTRACT e DISSEMINATE e PRECEDE
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edHelper
Name:

BESET ¢ ENTERTAIN ¢ WAVER e FOIST e REBUT ¢ BLUNT
CONTUSION ¢ ACRID e RECEDE e PLUS ¢ ACRIMONY

Write each word into the puzzle.
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Name:

edHelper

[ negotiate e foist e pestle e postulate e beset e blunt

Each row, column, and box must have all the words from the word list. Write in the missing

words.
blunt postulate
postulate foist
pestle beset
foist negotiate beset
blunt negotiate postulate
Emma is younger than April. Amy is older Anna rolls a die. What is the
than April. Who's the oldest? chance of her roling a 27
fix6= Bem= —_mm | DO 4O + U =
Rewrite these in increasing order of length:
91 648
- 509 16 dm, 9 mm, 310 m, 894 km, 91 cm - 498
1kg =1000g
SH3-275= 2Mkg = g




N
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edHelper

1.

Each of the words below starts on the number shown. A word can go up, down, left
(backwards), right, or in any of the diagonal directions starting from the numbered box.

OPERA
OMIT
ONION
v OXEN
OPERAS

2. PERCEIVE 3 AIS

PIE
PARTNERS
“ PAW

IMAGINATIONS

4.

S.

6.

9.

RENT

RECLUSES
A RIP

RARE

vV ERR
ECHO

¥ WORE
WE
WISH
WEPT
WIT

¥V RETORT
RESTORE
RACE
ROW
REST

RUB
RIGOR
RUG
- ROD
REMIT

TIE
TO
A TEST

TREKS
TOLD

9x8=

1lb =160z

25b= _______ oz

60 +12 =

4,366 - 1463 =

3x5=

NN
N W

3x5=

How many feet are in 72 inches?

feet
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edHelper
Name:
Words can be to the RIGHT, DOWN, LEFT, or UP. Every letter is used ONCE.
GISSUOULFREPUSIL

PUTONTNANETUETILAR
R L E LNEGOTTIATERE
ELBLAABEENTNULGBUSB
CIETCUPOSTULATETLWU
EBSSRTGHOPWAVERPT
DLEEITIOEDECERSULP

Write the words found. EETPDRREVEPORTENT

PORTENT PLUS
Rewrite these in increasing order of length:

3010 = 526
699 dm, 698 cm, 834 mm, 760 km, 78 m - 275

In the number 649,716,550, the digit 4 is in Hannah rolls a die. What is

what place? the chance of her rolling a 6?

The letters A and V each
have a line of symmetry. (3+9)+7=
Name another letter
between A and V that has a
line of symmetry.

NN

o1 F
— =
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edHelper

Name:

Circle words to the RIGHT or DOWN. When you are done, use the letters that are left to find
a mystery word. Put a square around each letter left over. The first 2
letters that do not form a word are rectangled.

RIGHTEOUSSIEGEM
H M P JEALOUSDO
OLCI ESURMISETGBN
NIEN[SIR COCF T1IO
OBRTI|IUT EPLAMECT
RETS I MAOM RYO
ARIT NMEQTOTIRCN
RTFETE NUHU OLO
YYYR N TEES REU
DECAYT PARTIALS

Write the words found.

The secret word is all that is left. It consists of all the letters that did not form a word. What is it?

spul 1]

Using the words from the puzzle, write a different word on each line. Explain what it means.

1.
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edHelper
Name:
Select the word or phrase whose meaning is closest to the given word.
SURLY DOMINATE PROLIFIC
twisting intensify professional
tepid reorganize positive
unfriendly overpower productive
QUENCH JEER REVERENT
complicate to scoff at concerned
mince to loathe unusual
bemuse to laugh af respectful
FLEDGLING URBANE VAPID
inexperienced uneducated steamy
trained refined not stimulating
newborn metropolitan enormous

Now find the given words AND the answers in the word search. If you can't find an answer, you might be wrong.

TYTAFFOCSOTONNMIWDENABRUEEIDMACOLN
PNAIJPOEDFFPHFLIFLEDGLINGCFPEIIFETI
LPRODUCTIVELIIEDOMINATENNXFFEYDRETI
EMALVAPIDNRIOIEMAPFCRPRLREENSIETFNK
AUNWCCGNENOTSTIMULATINGONGLIRPUANU
NOTPVAONORDCELFIIJDREWOPREVOTRROVE
OJRVINEXPERIENCEDCSNQGSTCOUUNIOLTIA
PECOMPLICATETNEREVERNREHPNDS STDBNEN
NERESPECTFULRIOOCIFILORPOVDENIFERL
DRSURLYIMOADNNQUENCHNNNGUNFRIENDLY



